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CIVIL SERVICE CU.#H-IUN EXAMINATION (CSCE) 2009
EXAMINATION CATEGORY: TECHKICAL

PAPER [1: GENERAL SUBJECT ENOWLEDGE -MEDTCAL

Tota! marks 100 L 90 minutes

Read the following instructions before you procesd to answer the questions,
2. The guestion paper is divided into twa scotions: A and I3
2. Seetion A is muliiple choice questions (70 marks), Choose the one BEST answer to the

question, '

F section B s short answer question { 30 marks). Answer the question to (he point, Try to
Ul Uhe answer in the space provided. In case you need exlra paper; ask the exaininer,

- i . < |

3. Number o answer sheets attached



Seetion A: Multipic choice question (70 marls)

CIRCLE THE ONE MOST CORRECT OR APPROPRIATE ANSWER (1 mark each for
every question)

L Allthe following are true characteeistics of animal el gxcept
a. Lentrosome is present
b Has cell wall
¢. Do not contain plastids
Cxtoplasm fills almost the entive ccll i

2. Water is condurcted upwards from the roots to the lrunks of the trees mainly through:
2. Phioem
b. Rools
¢ Xvlem
. Corlex

3. Sex of the child depends upon the kind of the sperm that fertilizes the egg, All cggy
contain:
o Only X chromosoms
b Only' Y chromosome
¢. Omly XY chromosome
d, Omly XX chromosome

4. Transpiration 15
a. Bleeding in plants
b. Loss of water vapour from the asrial part el the plants
¢ Guttation of water from the leaves of the plant

d. Osmaosis of waler [Tom the leaves

3. What is not required in the photosynthesis?
A Cveen .
b, Carben diexide
¢. Light cnergy

d, Water
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When a crystal ol potassivm permanganate is placed in a beaker containing water, the

poldssium permanganate slowly disappears into the water, This is because of the
called:

i, Dismosis

b Ex-osmosis

e Dillusion

d.  Imbibition

Mlace a peeled potato for a pericd ol 1 hour in the solution containing 20% sugar, What

would vour observation b

4. There will not be any change in the size of potato

b, Potato increases in size bucause it absorhs water

¢ Potato shrinks because of the exosmosis of water lrom the potato
d, Potato shrinks in size because of endosmosis

Cenlral nervous system consist ol ;

4. DBrain and the spinal cord

b, Brain

¢ Bomatic neryous system

d. Autonomic and somatic nervous system

Hurnan brain is the largest in propartion to the size of the body among all the animals

and on the averape weight is:

a. 2.0kg
b, 2.5kg
¢, 3.0kg

i Brain and e spinal cord

The number of major sense organs in our bodv are;
Onie

Three

Five

ooE

L)

Four

')



Il Wien our eyes shift the vision from 4 near by abiject to a distant object, it accommodates
by

a. Flattening the lens

b. Thickening the lens

¢. Rotating (he lens

. Makin g the lens more convex

17, BEar ossicles consist of

a. Malleus, incus and stapes

b, Pinna, ear drum and auditors canal
Owval window and round window
Cochlea and semi circular canals

oo

Ly

- The taste buds for the bitter wstes are primarily locatad in the :
a. Tip of the tongus
b. Side of the tongue

Rack of the tongue

[ Middle of the tongue

5

~

14. Following are the harmenes produced b Lhe pancreas:
g, Insulin and thyroxine
b, Somatostatin and calcitonin
¢. Adrenalin and Glucagon

L Insulin, glucagon and somatostatin

o

15, Inthe development ol human embryo, all human urgans are developed by:
a. Five weeks of gestation

b. Four weeks of pestation

c. Dight weels of gestation

d. Twelve weeks of gestation
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World Health Day is observed on:
a. December |

b, April 7

¢ Outober 28, 2009

d. February 14

The kinetic cnergy of a 20 kg mass, moving with a speed of 4m/sec is -
a. 320

b 68O
oo lail
d. BOT

18,

21

Light travels the lastest in:
g, Waier '

b Glass

¢, Diagmond

. When a scale is immersed in & buciet of waler, the scale appears Lo be

= P

Bernt dowrpward becauss of vgzﬂlmﬂimn
Bent u puﬂf;rd because of refraction

¢ Slraight because density of water and air are same

Bedt side ways hecause of movoment of waler o the huu]wL

£

A mian hears His own ccho from a large wall erected across the ground after 0.1 sec.
(W=d/t, where v is the veloeity, d is the distance, and Uis the lime, velocity of the sound in
air is 340 misec).

The distance hbiwur* e wall and ‘.H: man is:

a3 [’i“n |
. 5im
c. I8m

do T m ‘
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- Une calorie iz defined as
4, Ouantily of heat required to raise the femperature of [ ¢ of water by | desres Celsiug
b, Quantity of heat required to raise the temperature of | g ol water fram 14,5 degree
(Celsius (o 20.5 degree Celsiys
¢ Quantity of energy spent 1o decrosse the hody temperature
d. Quantity of energy spent 1000 ml of waler by 1 o ciree Celsiys

-Melting point of a substance

a4 Decreases by presence of impurities i it
b. Increases by presence of impurities in it
¢ Does not depend o the impurities

d. May decrease or increase depending on the substance

- Evaporation of a liguid depends on all the tollowing factoes excepl
a. lemperature
b, Swrface gres
€. Nature of the liguid
d. Boiling point

- Central core of atom s ealled nuclens, Nuclens containg:
i Protons

b. [lectrons

¢ Neultrons

d. Neutrons and protons

When light of suitable wave length: (alls on the surface of alkali metals it resully in:
a. Lmission ol protons by the metals

b, DEmission of neutrons by the metals

¢. Emission of clectrons

d. Emission of electrons and neutrons



26, The bulb with carbon filament was invented by

2

(0.

4. Albept Elnslein

b, Thm‘rﬂs Alvg Edison
Madam Curie

Oy

x

o

. Which (‘JLthc rays is uselul for treatment of cancer?

# Alphb rays
b. Beta im}-'s
¢. Gamma rays
d. Hravs

- Al Is the characteristics of parthenocarpic fivirs axeepl:

a. [ruitiis developed by fertilization

b, FrullL are either seedless or colifaln cmply of non-viable seeds

¢ Matural parthenocarpy found in oranges, cucumbers, and seediess grapes
. Are of great commercial value

. Which of the food types mostly help in the building of the mass of the hody:

8. Carbohydrate
b. Proteins

¢ FPats

d. Witamins

The fotal number of deciduous teeth in humans are:

a, 32
20
. 26

d. 14
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Which vitamin deficiency will lead to a condition called SCUIVY,

o

==

-

P

i,

L,

WVitamin A
Vilamin B
Yitamin C
Yitamin 13

revalence of goiter in Bhutan has decreased drastically due o
.
b.

¢,

A good public health education en hygiens and sanitation

Befter avcess to treatment and care for poiter problens

lodization ol the commercial sall

Availability of the nutritious diet duc 1o improved economic condition of (e people

- The odd combination among this set of bones is ¢
f.
b.
c.
d.

Hurmnerns
TFoadins
e
Fibula

A person with blood group AB has

il.

b.
e

d.

(2]

Neither A nor B antigen
Antigens A and B
Anligen A but not 3
Antigen B butl not A

. The fimetion of the first cranial nerve corresponds o
a.

B,

Rotating eye ball

Controlling the movemen of tongue

Bringing sense of smell from nasal mucosa to brain
Controlling taste



36, Ao iron ball of mass Skg in Thimphu, if taken to the moon will have g mass of -
a 3Kg
b, 9.9 Kg
o 43 kg
d, 2.6Kg

- An earthworm breathes throuph a.
a. General body surface

o, Parapodia

¢. Lrachea

d. Skin

38, The site ol the fertilization is
g leris
ls, Cerviy
¢ Fallopian tube
d. Vulva

39, The most common route of HIV wransmission world wide is:
&, sharing needles arnong injecting drug use
b. Blood wansfusion
¢ Mother to child
Sexual voute

40 Which i3 not (rue about human heart:
It is the size of the 135t

£

b, It is four chambered 3
¢.  All the heart valves consists of theee membranous Maps
d. Ttreceives oxygenated blood from a pair of coronary ariery
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The base which i1 not Tound in the nucleatide of ITNA js .
4, Adenine

b, Guanine

¢ Thiamine

d, Ulraeil

Among the following which is a globular proteins

4. Hemoglobin
b. Collagen
¢, Fibrin

d, Keratin

. The base which iz not [ound in the nucleatides of RNA iz

a.  Adenine
b, Guanine
Cyvlosine

o TR

Thymine

In addition to carbon, hydrogen, and oxveen, the nuclsic acids contain the clement

f. Nitrogen and Sulphur
b, Witrepen and phosphorous
¢. FPhosphoroues and Sulphur
d.

Nitrogen phosphorons and sulphur

- starch is hyvdrolysed inte mallose by the action of the enzyme

A, invorlase
b, Zymase
o, Diastase
d. Cellnlase



40. A example of amorphous carbohvdrate is
. {ilucose

b, Pructose
C. Sugrose
d. Starch

A7, An lsomer of ¢thanol is
a. Methanol
b. Diethyl ether
& Acetone
i, Dimethyl ether

48, Phenol can be converted 1o salicylic acid by
A Kolbe's reaclion
b. Rosenmund reaciion
o Cannizaro Reaction
d. Perkin Reaction

19. Seil bacteria converts urea finally into
a, Nitrogen
b b) Ammonia
¢, Nitrites

d, Mitrare

L
L

- Formie acid differs from Acctic acid in being an
4. An oxidizing agent
8. A reducing apent

c. A dehvdrating apent

d. A bleaching agent



LAy}

)

-

F\_

- Mame the acid which is Liquid and Non-Velatile?
a. Sulphurie Acid

b.  Formic Acid

¢. Oxalic Acid

4. Phosporic Agid

I the reactivity series of metals which is the most reactive motal?
a4, Fine

b, Caleium

¢ Potassium

d. Gold

. The process of heating the concentrated ore Lo a high temperature in excess of air is
called..
1. Caleination

n. Reduction
t.  [lectro-retining
d. Roasting

The carbon content of wrought Tron is between. ...
a. 4-57 '
b, 0.5-1.3%

Goo DDA 7%

d. 0.15-0.5%

- A colorless gas, turns blue litmuos f2int red and when passed through lime water tens
lime water milky, The eas is | ..

a. Chlorine

k. Sulphnr Di-oxide

¢ Carbon TH-oxide

d. Nitrogen di-oxide
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26, When sodium hydro-oxide reacis with caleipm the precipitate is ...

By

("
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4. White curd like
B, White Chalk like
2. White gelatinous
d. Pale Blue

. When Acid Solution is added to Phenolphthalein the colour of Phenolphthalein will

change to. ..

a. Colouriess turns to Pink

b. Orange turns yellow

e Coloyrless remaing eolouricas
d. Orange turns Pink

< A cc-mpjunfj having ils varbon atom in chaing and not in closed vivgs originaliy used Lo

duescribe the fats and fatty avids iscalled, ...
a.  Aliphatic Compound

b Adkeyl Compound

¢ Crvolite

. Flux |

| : ; _ : e
- A homogeneus mixtuee of two or moce metals {or metals and von-metals) combined i a

definite proportion in their mollen stale is called .
2. Arnalgan

b Alloy

¢. Messier's rapgent,

f‘t.mmimmt

. The proegss of breaking down a substance into two or more substances is called. ...

a. Decantation |
b, Decomposition |
¢, Termentation

d. Reduction
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he mode ol concentration exprassion for a selution that is independent of tempuerature is
2, Molarity

b Percentage (Mass/Volume)
e Molality

d, MNarmality

Colligative properties (property thal depends an the number of salule particles) of dilue
solulions are not allected by

2. Hydrogen bonding in solute molecules

b, lorie character of Solye

¢.  Temperalure of solution

d.  Density of the solile

03. The osmotic pressure measutements are best suiled for determining the malar masses of
. Sparingly soluble non-vialatile solytes
b, [lighly soluble non-volatile solyles
c. Non-ionizing solutes of very low mular masses
d. Non-lonizing solutes of very high molar musses
64, Which one of the following does not have H vidrogen Bonding?
a. Llhana
b Liquid Ammonia
e. Glyeerol
d.  Liquid Hydrachloria Acid
83

66,

. The maximurm number of Hydro

gen Bonds a water (H20) molecule ean form 18,454

4. One :
b, Twn
¢. Three
d. Four

In thermodynamic terms 4 system is “that portion of the universe which is under
thermodynamic study” there fore the example of an isolated system is.. ..

. lee cold water in a thermoy flask

. Boiling hot-water in a heaker



e ot waler in 2 stoppered flask
d. A living svstem

67, The addilion of solid polassium cyanide Lo pure water causes ...
& Increase in PIT
b, Decrease in PH

™o change in PH

complete dissociation of Potassium cyanide

oo

68

The cathode reaction in the clectrolvsis ol dilule hydrochioric acid using platinum
cleetrode involves...

a. Oxidation |

b, Reduction

¢, Doth Oxidation and Reduction

d. Meutralization

69, Ina dry cel), which is correet?
a.  Aine metal is the anode
b, Zinc metal i3 the cathode
¢, Carbon is the snode
d, The content of the cell are perfectly dry

T, The central atom In Vitamin B12 15 ...
a. lrom
b, Copper

Colalt

Magnesium

o
A
{h
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Seetion B: Short questions

Answer ALL the questions in briefin the space provided below. (3 marks
question

L. What is the dillurence between mass and weight?

2 Explain why the walls ol a dam are thicker at the hase?

3. What is the difference hetween simple and compound leal?

s o ean



4. Dillerentiale pelween tendon and ligament

3. Write a short note on bload platcicls

8, Describe functions of fas
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Yoo What is marssmuos?

B, What are the signs of aver malnutrition?

9, Iron gets easily rusted when exposed 10 air. Name three metals
prevents rsting

which when co

i
e

ol om Tram



10. Find the percentage of Carbon in Carbonedioxide?



